OKymbL1apAbIH (PU3NKA CA0AFBIHIAFbI
AFBLILIBIH TUIIH/AE COUJIEY
NAFAbLIAPbIH JAMBITY K0JI1APbI

Kaopu1oexkoBa Anmaryns CepukOacBHa, ATuK buouryns BacunseBHa

AKCY KaJaChIHBIH JapbIH/BI Oanajapra apHaJfaH MaMaHIaHIbIpbLIFaH
TMMHA3HSAChIHBIH, (DU3MKA MTOHIHIH MYFaIIMIEP1



Pdusuka
ca0arnIHIAFbI
ArbLIIIBIH TUIIHIE
comJiey JarabliIapbiH
AaAMbITY

Kentiai TyJIraHbl

KaJbINTACTBIPY

3amaHyu 0iJimM
casicaTbIHA COUKeC
TYJIFAHBI
KAJbINTACTBIPY




KyTujIeTIH HOTHIKE
OxKyumbLIap:

DOu3MKAJIBIK TEPMUHAEPIL, Kypaa-Ka0abIKTapAbIH
arayJapbliH arbUIIIbIH TUIIHAE Ol1exi

AFBLIIIBIH TUIIHAE TAKBIPBINTHI TYCIHAIPE ajJaabl
AFBLIIIBIH TUIIHIE 03 OMBIH KeTKi3e ajJaabl

AFBUINIBIH TUIIHAE CYpaKTapra skayan 0Oepe ajgajabl
KOHE CYPAK KO aJaa/bl

3epTXxaHaJBIK KIHE NPAKTUKAJBIK )KYMbICTAPbIH
AFBLIIIBIH TUIIHAE OPBIHAAUIBI JKIHE
KOPBITHIHAbLIAK OlJ1e/xi

Ecenrepal arblIIIbIH TUIIHAE TYCIHEOl, IIbIFapa
aJ1a/1bl




AJBIMBI3AA TYPFaH MiHAeTTePal KAJIAM icke
acbipa ajjambI3?

qﬂq
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The terminological
dictionary on physics

Duznkagan
TEPMHHOIOT HSIBIK
CO3TIK

OUSNKAILAH TEPMUHOJIOI' UAJIBIK CO3AIKTEP

The terminological The terminological The terminological

dictionary on dictionary on = 1 dictionary on

physics physics | i‘ physics

du3uKaaan Pusukaaan it du3uKanan

TEPMHUHOJIOTHUAJIBIK TCPMHHOJIOTHAJIBIK TEPMHHOJIOINHSJIBIK
co3tiK

1%

: f

CO3/IIK CO3JiK :‘lé
i

.ii;

0

(pU3UKAHBI AFBLIIIBIH TUIIHAE OKBII KATKAH KAJIbI OPTA MEKTeNnTepre, pusnka
OKYJIBIFBIHBIH OaraapiaaMachl Heri3inaeri TEpMUHOJIOTUAJIBIK YFBIMAAPAbIH
aylapMachbiH AYPbIC KOJIAHY 0apbICHIHA KOMeEKTecCe/ i



9 chiHBIN

Chapter 1. Fundamentals of kinematics
1 rapay. Kunemaruka uerisaepi

acceleration
addition of vectors
angular speed (or angular

frequency)
approach

arc

arc length

brake

centripetal acceleration

circular
circular motion

classical mechanics
constant acceleration
decelerated motion
direction

directly proportional

equation

falling body

final velocity

free fall

freely falling body

free fall starting from rest

frequency

gravitational acceleration
horizontal projectile motion

horizontal component of a
vector

initial velocity
instantaneous velocity
inversely proportional

yaey

BEKTOPAP/BI KOCY
OYPBILITBIK KBUTAAMIBIK
(Hemece LMKIIK KHIMIK)
KakblHAY

JoFa

JIOFAHbIH Y3biHBIFbI
Texeny

LEHTPre TapTKbIll YACY

wenbep
weHOep GOHBIMEH KO3FabIC

KJIACCHKAJIBIK MEXaHHKa
TYPAKTEI y1ey

KeMiMesti KO3rasbIc
GarpiT

Typa nponopuHoHan

TeHzuey
Tycin 6apa xarkau acHe
COHFBI KBUIIAMIBIK

epKiH TyCY

€PKiH TYCKCH JICHE
GacTankbl KbUIAMABIKCH3
epKiH TyCY

UK

[PABHTALMANLIK YaCY (epKin
Tycy yaeyi)

FOPH3OHTAJ IAKTLIPBUIFAH
JICHCHIH KO3FaJIBICHI

BEKTOP/ILIH FOPH3OHTA
KYpayuibiChl

Gacrankhl KeUAaMIabIK
NE3LIK KbUIAMIBIK
Kepi MponopLuHOHa

I'naBa 1. OCHOBBI KHHEMATHKH

YCKOpeHue

CJIOKEHHE BEKTOPOB

YrJI0Bas CKOpoCTh (M

LUHKJIHYECKas 4acToTa)

nojxo, npubamkeHue,

npubmKaTees

ayra

JUIHHA 1yTH

TOPMO3, TOPMO3HTH

UCHTPOCTPEMHTENbHOE
YCKOpeHHe
OKPYKHOCTH

KPYroBoe JBHXKEHHE,
JIBHKEHHE 110 OKPYXHOCTH
KJIACCHYECKas MEXaHHKa
MOCTOAHHOE YCKOPEHHE
JAMCJIICHHOE JIBHKEHHE
HanpasJjieHue

npaMo
NPONOPLUHOHANBHBIH
ypaBHeHuHe

najaioniee Teso
KOHEYHAs CKOPOCTh
csobonnoe najgexHue
cB06o/HO Najaroiee Teno
crobosnoe nanenue 6e3
HAYAILHOH CKOPOCTH
qacrora
IPaBHTALMOHHOE
yekopeuue (yekopeuue
¢BOGOIHOTO NageHns)
JIBHXKECHHE Tesla
GporenHoro
rOPH3OHTANLHO
rOpPH3OHTANbHAs
COCTaBJISIOMIAsA BEKTOPA
HayaslbHas CKOPOCTh
MIHOBEHHas CKOPOCTH
obparHo
MPONOPUHOHASLHBI

length of a vector
linear velocity
linear motion

magnitude of vector
motion

motion of object thrown
vertically downwards

motion of object thrown
vertically upwards

multiplication of vectors by
a scalar
negative of a vector

parabola
parallelogram method
period

proportional
projection of a vector
projectile at an angle

Pythagorean theorem
radian

relative velocity

right triangle

scalar quantity

square root

slow down

steady motion (motion with
constant velocity)

subtraction of vectors
time of flight

tail

tangential speed
terminal velocity

tip

triangle method

unit vector

uniformly accelerated
motion

BEKTOP/IbIH Y3bIH/IBIFbI
ChI3BIKTBIK KbULIAMABIK
TY3Y CHI3BIKTHI KBUIIAMABIK

BEKTOPABIH MOJYJI
KO3FaIbiC

TiK TOMEH JIaKThIPBUIFaH
JICHEHIH KO3FaJIbIChl

TIK )KOFapb! JIaKTHIPBUIFaH
JICHEHIH KO3FaJIbIChl

BEKTOpJIAp/Ibl CKANIAPFa
kobeiTy

Tepic BeKTOp (Kapama-Kapchbl

GarbITTAIFaH BEKTOP)

napabona
napauienorpamMm ajtici
nepHo

MPONOPLUHOHAI
BEKTOP/JbIH NPOCKUMACHI
KOKKHEKKe Oypbitl Jxacaii
NaKTHIPY

[MTudarop reopemacsi
panuaH

CaBICTBIPMAIbI KbUIAAMABIK

TikOYpBILITE! YIOYpbILI

cKasAp wama
kBaapar Ty6ipi

TexeNy

GipKaNbINTBI KO3FAJBIC
(TypaKTh! KbUIIAMIBIKIICH
KO3FaJIBIC)

BEKTOpJIap/ibl a3aifTy

YIIY YaKbIThl

BEKTOP/IbIH 6ach!

TAHrCHUMAIBIK XKbUTAAMIBIK

LIEKT HKbULIAMBIK
BEKTOP/IbIH YIIbI
yw6ypsbi azici
6ipnik BEKTOPbI
GipKanbINTHl YeMesi
KO3FaJIbIC

JUIHHA BEKTOpa
JIMHEHHast CKOPOCTb
NpAMOJIHHEHHOE
JIBHKEHHE
MOJLYJIb BEKTOpa
JIBIDKCHHE
JIBHOKEHHE Tesa
6poLIEHOro BEPTHKAIBHO
BHHU3
JIBIXKEHHE Tena
GpOLIEHOro BEPTHKANBHO
BBEPX
YMHOEHHE BEKTOPOB Ha
cKansap
OTpHLATE/BHBIH BEKTOP
(NpOTHBOMOJIOKHO
HANpaBJIeHHBIH BEKTOP)
napabosa
METOJ napajuiesiorpaMma
nepHosL
MPONOPUHOHANBHBIH
MpOEKLMsA BEKTOpa
JIBWKEHHE TeJa MOJ1 YTJIOM
K FTOPH30OHTY
teopema [Tudaropa
panuax
OTHOCHTEJIbHAsA CKOPOCTh
NPAMOYTOJIbHbIH
TPEeYroNbHUK
CKalsipHas BeJIMYHHA
KBaJIpaTHbli KOPEHb
TOPMO3HTH
PaBHOMEPHOE /IBHKCHHE
(BHKEHHE C MOCTOSAHHOM
CKOPOCTBIO)
BBLIYHTAHHE BEKTOPOB
BpeMs mosieTa
HAYaso BEKTOpa
TaHreHLMAIbHas CKOPOCTh
npezenbHas CKOPOCTh
KOHEL| BEKTOpa
METOJ1 TPEYroJIbHHKA
€IMHUYHBII BEKTOP
paBHOYCKOPEHHOE
JIBHIKEHHE



Diffusion — process of
penetration of molecules
or atoms of one substance
between molecules or
atoms of another.

Temperature is a
measure of a average
kinetic energy of each
particle of an object.

A thermometer is an
instument used to measure
temperature,

Brownian motion is the
random motion of
microscopic particles
suspended in a fluid (a
liquid or a gas).

Heat capacity: the
specific heat of a
substance is the quantity
of heat required to raise
the temperature of 1 g of
thatsubstance by 1°C, with
units J/(kg*’C)

['occapmii

Juddysus — 6ip 3aTThIH
MOJIEKYJ1anaphl HeMece
aTOMZAAPBIHEIH exinwi Gip
3aT MOJIEKyJIaIaphl HemMece
ATOMIAPLIHBIH APAChiHA
orin apanacy KyOynbichl,

TemmneparypaneHeHiy op
Gemueriniy
KOSFAILICBIHBIH OPTAILA
KHH@TUKAJIBIK
SHEPrUACHIHBIH OJIIEMI
Gonwir TabeuIazmEI.

Tepmomerp on
TeMIEPATYPaHbI
TeMMEPATypaHs! Qe TiH

Kypan,

BpoyHabIK Ko3FanbIc
nereHimis on
cylibIKTapIars HeMece
rasnapiars!
MHKPOCKOITHSLITBIK,
Gomuexrepain yinikcis
GeiiGepexer KOSFANLICHI,

3arrein MenmiKTi
IRBITY CHUHBIMABIIBIF B M
accacs! 1 r 3aTThIY
remneparypacsis 1 °C -ka
03repTy YIUIiH KaHIa
MeJIuIepe KbLTY Kamer
eKeHIriH KepeeTeTiH
(PH3NKANBIK [amMa, eeM
Hipairi Jox/(xr * °C).
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Juddysua — npouece
MPOHUKHOBEHUA
MOJIEKYJ1 HJIH ATOMOB
OZIHOrO BEILECTBA MY
MOJIEKYJIAMH HITH
aTOMaMH JPYIoro.

TemnepaTypa sasnaercs
Mmepoii cpenuelt
KHHETHYECKOMN YHepruu
KaX IOl 4acTHBI Tea.

Tepmomerp 310 npubop
TS M3MEepeHus
TEMIIEPATYpPSI,

BpoyHnoscxoe
ABUHKEHHE~ ITO
HENpepLIBHOE
Xa0THUECKOE NBHIKSeHMEe
MHKPOCKONUYSCKHX
4acTHL), B3BELICHHBIX B
MUAKOCTH WK rase.

Vaensuan
TeMI0EMKOCTh
BEIIECTBA;

KaKOe KONHUECTBO

TEIJIOTHl HAAO Nepenarsb
Teny maccolt 1 r, urober
ero Temneparypa
yBemmumnach Ha 1°C
uramepseres B i/(xr *
°C).

A calorimeter is an
instrument used to
measure the heat changes
occuring during
physical,chemical and
biologicalprocesses.

Heat transfer is the
exchange of thermal
energy between physical
systems, The three
fundamental modes of
heat transfer are
conduction, convection
and radiation,

Conduction is the flow of
heat through matter by the
collision of particles from
the places of higher
temperature to the places
of lower temperature.

Convection — g type of
heat transfer at which
internal energy is
transferred by flow of
liquid or gas.

Kanopamerp— op Typani
(PHUBHKATBIK, XAMUATIBIK
eHe OHOMOrusANIBIK
TNpoLiecTep KesiHae
IexenepueH GeniHeTiH
HEMECe ONapbIH JKYTATHIH
HKBLTY MONIIEPIH
emmeliTia acnar,

Knury Gepimy nereximis
(drsnkansix Kxyiienep
apachIHAFLL KBLTY
anmacy. XKeuty Gepimy/min
yir Herisri Typi Gap:
HKBITYOTKIZrITIK,
KOHBOKIWS JKAHe Coye
IBIFAPY.

TmKi SHEPrusHBIH JeHeHIH
KbI3raH GomiriHeH caiKbin
Genirine Tixeneii Hemece
apabiK JEHENep apKbiiibl
Gepinty KyOsUIBICHI
RbLTYOTKI3TiNITIR DO
aTanaplL.

Konpexuus nereximis -
CYMBIKTHIH HEMECE I'asiibIH
arblHb! APKBIITBL
HEPIrUAHBIH
TaChIMIIIAHY B
GapLIChIHNA KBLLY ANMACY
npouecci.
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Kanopumerp— npuGop
JUISL MAMEpPeHus ‘
KOJIMHECTBA TEIIOTEI, ‘
BBIZIISIOILEHCS Mt ‘
noraomaomeics
Kaxom-iubo
dusuueckom,
XUMHYECKOM WA
OronornyYecKoM
npougecce.

Tennonepeaaua -
obmeH Tennoroit
aHeprueit Mexmy
dusuueckumu
cucremamu, Tpu
OCHOBHBIX ¢riocoba
TeruIonepena H -
TErONPOBONHOCTS,
KOHBEKLUA M MATyHeHne,

TennonposoaHoCTs —
970 NPOLIECC NePeHoca
BHYTpPEHHeH Heprun
MesKay
HEMNOCPeNCTBEHHO
COMPHKACAIOIMMMHCS
TENAMH WM YACTHLIAMK
oaHoro Tena ot Gonee
HarpeThiX vacreii Tena K
MEHee HarpeTsiM,
Kousexuns— sug
Ternoobmena, npn
KOTOPOM BHYTPeHHSs
IHEPTHA NEPEAARTCS
CTPYAMH ¥ TIOTOKAMM
MUAKOCTH MM rasa




Area
Square Rectangle Parallelogram
s w / h
ul ul [ O
s £ b
Am 52 A=fxW A=bxh
Triangle Trapezoid Circle
a
A\ : : @
b b
A=7xX rt

g | (@a+b)
A 2xbxh A 2 x h

Volume

Volume=L+W+H

Example:
13in

Volume = Length » Width+ Height

f Volume=L+*W+H
4in Volume=13cme+2cm+4cm
Volume= 104 cm®

Motion

Distance = Speed x Time

T Distance
" - : . '
Distance

Speed= Time

i ’l " \
\.. // )

O,
sl’/ac.e,,7
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OUSNKAOAH ECENTEP XXUHAFbI

The collection of the tasks on physics 9

Duankaan ecenrep Kunarn
r

- (bM3MKaHBI aFbLINIbLIH TLIIH/E
OKbIII )KATKAH OKYUIbLIAPAbIH
(pu3uKa KeJIeMiHAe arbLJIIIbIH
TUIIH KeTL1aipyre, (pu3uKaaaH

AJIFAH TEOPUSJIBIK OLTiMI]
NPAKTUKAAA KOJJIAHYFa
KeMeKTeceal



Fig.7 Fig8

Pressure

Pressure of solid bodies

50. In figure 9 shows a brick in three positions. At what position of a brick the pressure on a

Fig9

51.The rectangular block has a mass of 3600 kg and area of the base is 9 m*. What is the
pressure exerted on the ground?

52.The sockets press from special mass, working on it by force 37.5 kN. The area of the
socket 0.0075 m?. Under what pressure the socket is pressed?

53.What pressure on a floor makes the boy, which mass of 48 kg, and area of soles of its
footwear 320 cm’?

54. The sportsman, which mass of 78 kg standing on skis. Length by everyone a ski 1.95 m,
width 8 cm. What pressure renders the sportsman on snow?

55.What pressure is exerted on the snow by a 180 N skier if his skis are 183 cm long and 13
cm wide?

56. What pressure renders on a ground the granite column of volume 6 m’, if the area of the
basis it is equal 1. 5 m*?

57. A 6000 kg elephant standing on one of its feet exerts a pressure of 600 000 Pa on the
ground. What is the area of its foot?

58. A weight of a brick is 30 N. If its dimension is 20 cm by 30 cm by 30 cm, find the
maximum and minimum pressure its exerted?

59. A boy and a sled have a combined mass of 38 kg. The runners of the sled are 1.60 m long
and 1.2 m wide. Find the pressure exerted on the snow.

60. A rectangular block of mass 30 kg measure 0.1 m by 0.3 m by 2.0 m.
a) Calculate the weight of the block.
b) Calculate the maximum and minimum pressure exerted by the block.

61. A force of 200 N acts on an area of 4 m>.
a) What pressure is produced?
b) What would the pressure be if the same force acted on half the area?

62. Soft snow can be compressed by about 3000 Pascals of pressure. What is the smallest area
that a pair of snowshoes must have if they will enable a 70 kg person to walk over the
snow without sinking in? Take g = 10 m/s”.

Pressure of gases and liquids. The Pascal’s law. Hydraulic press. Atmospheric
pressure. Archimedes principle

63. In vessels represented in figure 10, crane K is open. To that the pressure of gas in a right
vessel is equal?

64.Two identical vessels are connected tube (fig.11). In one of them there is a gas under
pressure 0.008 Pa, in the friend the molecules of gas are absent (vessel empty). What
becomes pressure of gas in vessels, if is open crane K?

Fig.10 Fig.ll
65. Area of the smaller piston hydraulic press 10 cm?. On it the force 200N works. The area
of the greater piston — 200 cm”. What force works on the greater piston?
66. The piston the hydraulic press works with the area 180 cm? by force 18 kN. The area of
the small piston 4 cm’. With what force the smaller piston on oil in press works?
67. Height of a pole of water in a glass 8 cm. What pressure on bottom of a glass renders
water?




TOKCAHJIBIK TEPMUHOJOTUSIJILIK TECTTEP

- (pU3UKAHBI

arblIIIBLIH TJTiHAE
OKbITY YpaiciHae
OKYIIbLIAPABIH P
TOKCAHJAAaFbI aJIFaH
OLIIMIiHIH
HITHKECIH

KajaraJjiayra
KOMEKTeCY;
- OKYIIbLIAPABIH

TePMUHAEPAI

MeEHIepy
MYMKIH/ITIH

TeKcepy




I rosran Termman Tepsumo sor ek vect. O Nia XoHe ACTPONOMHN —
TA6MraT TYPAAL FLUTLMEAP. 3aTTAPALN KyPLIALICLL
Awuicm
- 7.8 iy % 1. Tepsmuzepui xazax viziwe aynap:
EAMN OpTa MexTenTepre apHatFad. OIIHKAHM AFMAIIMH TITIHAC OKMTY aHa

Width

Mass
Device
Electromagnetic |
Nature

T R

2 Test:
1) What does an equal-arm balance measure?
A) Arca b)masse ¢) length d) volume
2) Which one of the following is not a method of science?
a) Measurement  b) Observation  c) Experimentation  d) Presentation
T 3) Which one of the following shows only units of length?
ecr ) LAk bmmls  JA'mkm  ddmgm’
TecrTiH KypambIHja: :; :;’o' '-!:';T m there -;"l';'
&5 TCPMUHACPI1 ay/iapy 5) What is equivalent to Smim?

S a) 30s b)60s ¢)120s d)300s
2. arbUIIIBIH TUNTHAC MUHU-TECT OPpbIHAAY

3. Exercise.
Define volume of the rectangular block, which length 1,2 m, width 8 cm and
thickness S cm.




OnJu1aiiH OKBITY OapbIChbIHAA OLTIM canmachblH MEKTeINTerl JeHrenae
ycTam Typy 0acThl Maceie 00JIFaHbl HILIHbIK.

Chbl peTTe OKY YAepIiCiH ’KaHA e3repicTepre OHTANJIbI 0AFBITTAY KIHE
dCeJIeHI eIy YIIiH aKnaparTbIK-KOMMYHHUKAIUAIBIK
TEeXHOJIOTUsLJIap KOMeriHe CYheHaiK.




du3uka cadarbIHAA FHUILIMY TEPMUHACP MEH aMaJdapabl arbLINbIH TUIIHIE MEeHIepyre
OHTAWJIbI, TAKBIPbINI OOMBIHIIA TAINChIPMAJApP KIHe OelHepecypcTrap XKUHAKTAJIFAH
Padlet.com KocbIMIIACBIHAA 3JIEKTPOHABIK-THAAKTHKAJBIK JKUBIHTHIFBIH 5KAaCAIBIK:

- @u3uKa arbLIbIH TUTIHAE 9 ChIHBIN (PAKYJIbTATHB YIIIH )KMHAK;

- OU3NKAAAH AFbUIIIBIH TUIIHAE HHTEPAKTHUBTI TancbeipMmaJjap skuHarbl 10-11 chinbin

C @ ru.padlet.com/bibigul/bdb0o0iSdxidugca T a & %« » = 0

I3 Cepeuce @ Asuabunetst @ Anaekc & Gmail BY Kapte: % Mexaynapogroe C... @ Crem 1501 2021.pdf B Microsoft Teams an... (2 match the terms » Crnucok ans YTeHuA

Q) T CO3AATHKONMIO = MOAENUTLCA g --- “'

% §) Buburyns Avux MecsLy

"®u3uka arbiillbIH TiniHge 9 cbiHbin KuHemaTuka 1"

/ Caenaxo co BKYCOM K NPpUKNHO4YEeHUAM

Art time

Show two dances. First, when you
move relative to the group.
Second,when you do not move
relative to the group.

watch the video

\A_/hoﬂ} 5 /‘10{-00 .7

Chenai Pesition
Y

The rules and methods for
solution physical
problems.MOTION

Topic:The rules and
methods for solution physical
problems.MOTION

You will

Terminology

1)dimension - snwem / namepeHune
2)relative - caneiCThipMano /

THOCUTENbHDbINA

Fusition 3)to neglect - eckepmey /

» define point particle, reference

S 2 : npexebperate
frame, relativity of motion, apply 5
= 4)define - anbiKTay / onpegennte
the theorem of an addition of -
" . 5)to reverse - aybiCTbipy / Research time
velocities and displacements;
NOMEHATL

YouTube é)reference frame - canak xyneci /

cucTemMa oTcuyeTa
7)vehicle - kenik / cpeacTeo
nepeasmnxeHns

8)speed - xbingamablk, / CKOpOCTh
P)velocity -BeKTOpNbIK XbngaMabik/
BEKTOPHAaA CKOPOCTh

1) Draw a treasure map. Write
instructions for the map. For
example: “start here, go north 100
m, go east 60 m". Give the
instructions and the map to your

frismrdce 1 of thom find vumtir troacr ir?s

-



https://ru.padlet.com/bibigul/bdb0o0i5dxldugca
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) Buburyns Atuk 8 uacos
\{’ Physics 10-11 "Kinematics"

CaenaHo cO BKYCOM K NPUKIIOYEHUAM

Kinematics use resources:

You should already know: 1) H.A.3akuposa,P.P. Awvpos.
XXannbl 6iniMm GepeTiH MeKTenTiH,
10-CbIHbIObIHbIH, XXapaTbUbICTaHy-
MaremMaTukanbikK 6afbiTbiHa
apHanfax okynbeik "Apman-TiB"
AnmaTbl-2019

2) PHYSICS, Grade 10:
Textbook/Nurlybek Tashev, Yesbol
Duiseyev, Altynbek Karabatyrov,
Aibek Baieshov, Askhad
Artykbayev, Kamila Auelbaeva -
Almaty: ActaHa-kitan, 2019.-296
p.

3)Physics, Zambak publication,
2000

4)Physics, Cambridge universi
Press, 2010 +
5)The dictionarv of

e define point particle,
reference frame, relativity of
motion, apply the theorem of
an addition of velocities and
displacements;

.

learningapps.org

e determine displacement,
velocity and acceleration from
the displacement time graph,
velocity-time graph,
acceleration-time graph;

e apply formulas of position and
displacement for solving
preblems with linear
accelerated motion;

learningapps.org

X

Physics 1

= MECHANICS

v

o L P SEiel

/ Pavid Sang David Sang

\CambridgeIGCSE ~ 'ambridge IGCSE® |

Physics | Physics

Coursebook |

e
For the
updated
syllabus

Cambridge IGCSE®

edition

WAVES AND ATOM

D

Levent TEKIN
Al OZER
DAN

OXFORD
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% Physics 10-11 "Kinematics"

CAenaHo co BKYCOM K MPUKAIOHEHUAM

Kinematics

() = CO3NATHKONWIO  # NOJENUTBCA ¢ ‘

Beeavre ycaosve noucka

use resources:

You should already know:
o define point particle,
reference frame, relativity of
motion, apply the theorem of
an addition of velocities and

displacements; learningapps.org

determine displacement,
velocity and acceleration from
the displacement time graph,
velocity-time graph,
acceleration-time graph;

apply formulas of position and
displacement for solving
problems with linear
accelerated motion;

learningapps.org

learningapps.org

learningapps.org Anmarbl-2019
Kinematic 2) PHYSICS, Grade 10:

) Buburyns Atuk 11 peit

"Physics 10-11 "Dynamics”

CAenaHo co BKYCOM K NPUKIIOHEHUAM

Dynamics
You should already know:

o explain nature of weight,
elastic force and friction
force;

explain the meaning of such
concepts as inertia and
inertial frame of reference;
define Newton's first law and
use it for problem solving;

define Newton's second law

define Newton's third law

apply free body diagram in
problem solving

https://learningapps.org/watch?v=pwd727hkj22 weight of an

ttps://padlet.com/bibigul/wyrb9urdl890611c

1) H.A.3akupoea,P.P. Awwpoe.
Kannb! binim Heperis MeTenTi,
10-CbiHbIBbIHbIK XapaTbiblCTaHy-
MaTeMaTHKabIK 6aFbiTbiHa
apHanFaH oKynblk "Apman-NB"

and use it for problem solving;

and use it for problem solving

learningapps.org

) Buburyns Atk + 9 uacos

\4/' Physics 10-11 "Molecular physics"

Q = CO3MATLKOMMIO

Beegure ycnosve noncka

use resources:

XKannei 6inim BepeTid MexT
10-CbIHbIObIHbIK, XapaTbilb

learningapps.org Anmarbl-2019

ce3fik
(arbiNWbIHWa, Kasakwa,
opbicwa) A.C. Kabbinbekos:

Cpenato co BKYCOM K NPUKNIOYEHUAM

Molecular physics

You should already know:

o define point particle,
reference frame, relativity of
motion, apply the theorem of
an addition of velocities and
displacements;

determine displacement,
velocity and acceleration from
the displacement time graph,
velocity-time graph,
acceleration-time graph;

apply formulas of position and
displacement for solving
problems with linear
accelerated motion;

learningapps.0rg | gy
=

O6uywii (1 coimbin) | Microsoft Teams

B 06wy (1 col..

learningapps.org
eTel . re—

s
s=.. |

1)H.A.3akuposa,P.P.Awmpos .

MareMariukanslk 6afbiTbiHa
apHanFax oKynblk "ApMan-NB"

2)®uanKanaH TePMUHONOTMANBIK

 NOJENMTECH g8 v

enTiK,
ICTaHy-

3,

Beeaure ycnosve noncka

use resources:

1)H.A.3akuposa,P.P.Awmpos .
JKannel biniM Gepetin MeKTenTiK,
10-CbIHbIObIHBIK, XapaTblblCTaHy-
MaTeMaTiKanblK 6arbITbiHa
apHanFaH oKynbik "ApMan-nB"
Anmatbl-2019

2)Ou3anKagaH TePMUHONOTUANBIK
Co3AiK

(afbiNWbIHWA, Kasakwa,

opbicwa) A.C. Kabbinbekosa,
[OBAMTI - duanka naH Myranimi

3) GuavnkagaH ecentep XuHafbl
(aFblWbIHWAE, Kasakwa,
opbicwa) A.C. Kabbinbekosa,
[OBAMTI - duanka naH Myranimi
3)The dictionary of
Terminology:Mathematics,
Physics,Biology, Chemistry-

learningapps.org

+



https://padlet.com/bibigul/h6u5udfr5x29e5xq
https://padlet.com/bibigul/wop1uxyumwdiwvg1
https://padlet.com/bibigul/wyrb9ur5l8906l1c

DIIEKTPOHABIK- U IAKTUKAJIBIK YKUBIHTBIFbI APKbLIbI
OKYIIbUIAPABIH (PU3UKA ITOHIHEH HET13T1 YFBIMIAP MEH
TYCIHIKTEp1 KaJbIIITaca/ibl, TCPMUHIAECPAIH alTHUIYHI,
THIHJAJIBIMbI MEH Ka3bUIybIH AYPHIC KAOBLIIaHbIII,
CO3/IIK KOpbl KCHEUTLJI1M, OSPUIr€H BUIEO KOHE
TarchblpMaliap apKbUIbl YII TUIAE COMJICY AAFIbIChI
apTajapbl.


https://www.instagram.com/p/CPA2oyWn-ek/?utm_medium=share_sheet

TexHoONOrnANbIK XXoHe

dHbIKTay

npouecc Te.

WHXXeHepniK cayaTTbibIK
cTaHpapTTapbl: STEM-6inim
Oepyaeri TexHonorusanap
MEH MHXXEHEePUSAHbIH periH

FeinbiM: Taburn anemai septrey
MeH TYCiHyAi KamTuabl. byn Gip
yakKbITTa OiNniM XUbIHTbIFbI A4,

MaTtemaTuka: on 6annaHbIC NneH
CbIHU TangayAabl, COHbIMEH KaTap
caHaap MeH ecenTey ganengepiH
KornzaHa oTbIpbIn, agamMm MeH Taburun
anemai Kanam TyciHeTiHiMi3ai
KaMTaMacbI3 eTeAi.

TexHonorna: 6yn KaxeTTinikrep
KaHaraTTaHAbIPY YLWiH agam XacafaH
OHiMAep, Xynenep MeH npouectep
apKblifibl TAOUFN OpPTaHbIH
moauduKaumAcbIH TyciHAipeai.

Caravan of knowledge yitbiMaacTeIpyBIMEH 6TKEH KypCKa KaTBICTBIM, COJ
11M-01TiriMal Koigassi, 5 E, PBL, nmxenepimk qu3aliH OOMBIHILIA 6TKI3TCH
ca0aKTap/blH J1a HEr13r1 OUIIMMEH KOca YIITUIAUIIK JaMBITyaa 3 YJIECIH
TUT13VIE JICII OMJIaiMBIH



Objectives: I received an order from a farmer, he
wants to build an eco-house on
dzhailau, for his employees and for

P Tell us what is the difference between an eco- summer holidays himself.

house and an ordinary house Please answer these
questl
P List what properties should have an eco-house _ ; ' » 1)What material would you

. . X - o . recommend for the

P Explain what the temperature is and how the i construction of an eco-house?
. . . , ) & 2)How would you provide
optimal temperature is provided in the eco- i = ezmﬁdty? =
T : 3)What can be used to

provide clean water? 4)how
can such a house be provided
with heat?
5)What should be the optimal
temperature in an eco-house?

8 acbiHbin 8 o cbiHbIN

Episode 1 Eco house

OK, And what is the temperature?

How it is measured?

What types of thermometers do you know?
And to learn even more about the
temperature, let's open page 11 in the book

house

Elaborate

. What did you learn new?
. What scales of thermometers exist? [IRZUIEIS
. How to translate from one scale to Can they be called an eco-
another? o house? Do they correspond
. What property of bodies is the T to your ideas about the eco-
" J

temperature measurement due to? house?
What would you change in
these houses?

And now conduct an
experiment

1 group. Measure the temperatire of cold and hot water, then Is itd]P‘{SSib:E to build in our
mix and measure again. Explain the process | 5 - st
2 group. Measure the temperature of the ice and then the :(ljg:oull(). lC.onvert the temperaione xaliues ta-<20 .57 y
temperature of the melted water, explain the process e .

. 2 group. Convert the direct temperature values of 300
3 group. Measure the temperature in the upper and lower part: K 100K € degrens Clain
of the cabinet, explain the process . X 3 group.Convert the temperature value of 40 °C to °F.
4 group. Measure the body temperature with different 4 group. Convert the temperature to 210 ° C.
thermometers. explain the process

L, MH>KeHEepIIK Au3aiiH OOMBIHILIA ©TKI3TCH Ca0aKTapIblH Ja HEr13ri OLIIMMEH
KOcCa YIITUIALIIK JaMbITyJa ©3 YJISCIH TUT13YyAEe ACH OMJIaiMbIH

Ewvaluate




Yes, you have noticed correctly, this is a model of the perpetual
motion machine, in an attempt to create which the engines of today

were invented
1 Stage 1.

There are people who make such engines, who do you think it is?
Yes, that's right, engineers are doing this. And you have to work
as engineers, we have a contract. We are required to create engines

What engines exist today?
What kind of engine do you think we should

Magnetic candle create in the future?

Leonardo da Vinci's Perpetual

Motion Model m°‘_’e' of the Markurt  \/hich engines will be in demand?
engine (compass) > ; ) Q

Stage 2.
Is it possible to make a perpetual motion machine?

If possible, on what basis should the energy work?
What can you say about the engines in the picture?

' Explain the Jigsaw method to other

And now work with the engines g,‘{a‘g“g A ._groups.
« Try to make a model of a perpetual motion machine - What types of engines have you
E using the available resources and in the next lesson _Jesea rched?
—_How do they work?

i you will be able to E)rese_nt your model

( LEZ
] :

\

I Where does the energy come from?

H ~ i R
What kind of energy doe *What kind of engine can be called a perpetual

i Can the engine work if th motion machine?

—
: : ; R _ _energy CRITINE e *What condition must be met in order for the
, 7 SR TG | = hy does the EREME SO perpetual motion machine to work?
g § - : l_"ake a conclu5/or.r Of Ll «What law contradicts the perpetual motion
A% = " of Thermodynamics machine?
*Why hasn't humanity stopped the creation of the
perpetual motion machine yet?
*Do you think you can make an engine?
*For what purpose could you make it?
PBL,uHxeHepinik au3aiH OOMBIHINIA 6TKI3TEH CA0aKTapIbIH 1a HET13r1

OLIIMMEH KOCa YINTUIIUIIK JaMbITyda ©3 YJAECIH TUTI3YAe eI OMIaliMbIH

==




#11H ATAJIMBIII JICTEPIH KOJIJaHa OTHIPBII AFbUILIBIH TUIIHJE OKBITY
TbIH CO3/I1K KOPBIH KEHEHTE 1, )KaHAJIBIK alllyFa, opTypJl OakbLIayjap,

S COHBIMEH Karap, aJlfaH OUIIM1 eMipre JIerer
B ™ L1py MaKCaThIH/a MEHTEPiyi KaXKeT eKeHJIir
\ﬁ\ EH 0acThIChl OKYIIBIHBIH aFbUIIIBIH TIJI1H MEH]
COilJIey JTaFIbIChl KaJIbIITACa bl

KOCa YIITUIAUIIK JaMBITYAa 3 YJIECIH TUT13yle AEN O



a/sprinkles/view/cub 5‘ :
Irinkle |



https://www.teachengineering.org/sprinkles/view/cub_strawbridges_sprinkle
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eKoHTEKCT
e Koemip/iiH €H KoIl Tapajira TYPI1 - aPKAJIBIK KOIIIp — YIITaphI eKl 6afaHFa TIpEeNTreH KOJIJICHCH KaTThl apKAJIBIKTAP/IbIH
KYpbUIbIMBI. Kemip/iiH )I(YKTGMCCI araHZapMeH KaMTaMachl3 etuieni. JKykreme kemip/iiH ©3 caIMarblH, COHJai-aK
aBTOMO6I/IJII>)16p, KYK KOJIIKTEP1 JKOHE alaMap CUSKTEI Kemipre KOChIJIAThIH Ke3 KeJITreH CaJIMaKThI 61J1)11pem Depma
KOITipi - )KYKTeMeH1 0eJyre koHe KoIIp/l KoJiiayFa apHaaraH YIIOYPBIIITHI 3JIeMEHTTEp1 Oap apKaJbIK KOmipaiH O0ip Typi.

eMinnger

Ci3zmig HH)KeHepJnK MIHJICTIHI3 - MAKCHUMAaJIJIBl CaJIMAKThl CAKTal OTHIPHIII, AJIIAKTBIKTHI KOIOFa 6OJIaTbIH Kemipii >1<06aJIay
JKOHE caly. C13;[1H MaTepHalIapbIHbI3 cabaH »KoHe Tacma OOJIbIN TaObLIaabl )KOHE CI3/I1H KOMIpiHI3 JU3aliH MICKTEeYIepiHe
CoMKeC Kelyl Kepek.

Pecypcrap
Op TOMKA KOKET:
[tryre apuasiran 20 miacTUKaIbIK cabaH

VIIII CBI3FBIII HEMECE ChI3FHIIII

aK peTiH/e Maiagany YIIiH OPTYpPIIl KaTThl JKOHE KaFra3 MyKa0aisl KiTarrap

K CTaHIIUSICHI PETIH/C KbI3MET €TETIH €/ICHHEH OUIKTIr OipJiel 2 mapTa HeMece ycTen
reHjie 1,5 Kr caiMaKkThl KOTEpE aJIaThlH TAPA3bI




KemipJepai s;ko0aJjiay s»koHe cajry

1.OKymbuIaps! Y TOmKa 0emy.

2.0Op TOMKa Kara3, KEHCEe TayapiapblH Tapary.
3.0xyubuiapra pepma KemnipiaepiHiH CypeTTepiH KOPCETY.
4.Oxy1bLIapra Keyecl )oba meKTeyaepl Typasibl xadapiay:

KOIpaiH Y3bIHBIFEI KeMiHe 10 groiim (25 cM) 6omysl kKepek koHe 8 arormaik (20 cMm) caHplIay 00TybI KEpeK.
KOTIip OHBIH OpTachlHAa KOWBUIFaH OipTe-0ipTe KOChUIFaH CaIMaKThl COTCI3/IKKE YIbIparanFa Jaciin (Oyra
OacraraHra JIeHiH) CEHIM/II YCTall alrybl KepekK.

KOIIp/IIH Tipeyl 00Tyl KEpeK

kemip 20 (HeMece ofaH a3) cabaHHAH Kacallybl KEPEeK

TONTAap KOCAJIKbl cabaH ana ajaMain bl

KOIIp/Il YCTENTe Ka0bICThIpYFa O0IMa b1

5. Tontapra 3 KemipJiepiHiH K00aJIbIK HIes/IapblH MUFa IIa0ybLI JKacall, 63 HesJIapblH Karas3ra »as3blll, cbi30ackid (5-7
MUHYT) kacay. OKylbIiapra cadanaapabl KECy ajblHIa KeTpIEpiH MYKHUST KOCIapiaayfa KeHec Oepy, ©MTKEeH1 oyiap
aJIMacCThIPaThIH MaTepuall aJiMaiijbl.

6.Op Tom My1Ieepi ©3 UaesSIapbliH alTHIT OOJIFAH COH, 9P TOM Kail Kemip cally KepeKTIriH IIemTy.

/.Komanpanapra o3 kermipiaepin cany yurH 30 MuHyT Oepy.




Kemipai cbiHay

® 1. Bxi ycrenni (Hemece ycreni) 6ip-6ipineH mamames 8 moiiM (20
CM) KAIlIBIKTBIKTA KOO apKbUIbl ChIHAK CTAHIIUSICHIH YKacay.

2. Op TOTKA 63 KOIlIPIH TEKCEPYTe KE3EK-Ke3eK KOMEKTECY:
 |Kemip/i €K1 yCTeN/I1H apachblHIaFbl CaHbLIAy apKbLIbI
OPHAJIACTBIPHII, KOMIP/IIH Y3bIHABIFEI O1p/Iei YIIITAphI Op YCTENre
TYCETIHJICH €TiIl OpHAIaCThIPY.

Bip KiTanTel KOMipAiH YCTIHE kKaljaIr Koro.

Kerip icTeH mIbIKKaHIIIa HEMECE alTapibIKTail canobIpar
KETKEHIIIE KiTaIrpapabl KOCY/IbI XKaIFacThIpy (Kemipiep Kyjiam
KaJIMac YIIiH FbIM KOII CaaMak KOCIIay).

ChIHBIN MYIIEIEPIH KOIIp KyJiamac OYphIH YCTall anraH
KITalTaphiH eJIIeyre MakKelpy. byJ1 Kemip/iH onbIpbLIybIiHA ceOen
OoJiFaH KiTanTap TONTaMaChlHAH COHFBI KITANTHI aJIbIIl TacTay
ereH il O IIpe .

NTHIH >KaJbl caIMarblH TaKTara jka3y.

M [TIO3BOJISIET BPEMS, TIOMIPOCUTE YUATUXCS YAYUIIUTh CBOX
MIOBTOPUTH TECT.

KJIACCOM M3YUMTE JaHHbIC Kjlacca, 3aJIlaiTe U 00CyauTe

JUTSL Pa3MBbIIIJICHUH.




Kemipai cbiHay

NOKASATH AIPYIME BUAEO

https://www.teachengineering.orqg/sprinkles/view/cub strawbridges sprinkle ‘
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5-ke3eH: OKyIIbLIAPFA HITHIKEJIEP/i KopceTyre Kajal KoMeKTecyre
0osaabI?

b

e

4. llemiMai cbIHAY
JKOHe OaraJsiay

o B e

3ipJiey

=

uaesiIapabl
3eprrey




° «Hormxkenepai yCbIHY» Ke3eHiHaeri cypakrap

v/ MoceneHi Kajaii TyciHeci3?

v/ MoceneHiH canaapbl MEH canaapbl KaHgan?

¢/ MyMKiH OOJIaThIH HICIIiMIep KaHaaii?

v/ Ci3 KaHaail mennm/al TaHaaiCchI3/YChIHACHI3?

¢/ HenikTeH ci3 Oy menriM/Ii TaHaaIbIHbI3 KOHE
OackaiapaaH 0ac TapTThIHbI3?

¢/ Ci3aiH OpOTOTHIIIHI3 OyJ1 MOCeJIeH] Kanal menemi?

¢/ llemimM/poTOTHI KaJlail sKYMBIC 1CTEe1?

v/ llemimaepai Kamai xKy3€ere achlpy Kepek?

¢/ by menmiMHIH y3aK Mep3iMJIi caiagaphl/manianaphl
KaHaii?

v/ Kanpgaii cypakrap Korora 0onaasl?

v/ byn cypakTapra KaHmai xayan oepecis?

-
N\

Va
I’A‘:.Jl.‘

i

v/ Kaii kenip KypbUIbIMbI €H, YJIKEH
caJIMaKkKa e OOJIabI?

v/ KemipiHi3aiH Kail 0eJiri OipiHIii iCTeH
ILIKTEI? HenikreH?

v/ KemipiHi3/1H IU3aiiHbIH KaJlai
xKakcapTap e/1Hi3?

v/ Jlon con maTepuaiaapabl MaiigaaaHbI
51 cM anmaKTHIKTHI KO0 Kepek 0oJica,
#KO0OaHBI KaJiail e3repTep emiHi3?

S



AKymbicTeIH HOTHKECIHAE HE 0akanab1??

OKylHI)IJI APAbIH. bijiM camachl JKeTKUTIKTI JKOFapbI

HEeHreHnae

KericTikTepi Pecny0JauKaNbIK KIHE 00JIBICTHIK
AeHreunae

O3 euqimizaeri YJITTBIK YHUBEPCUTETTEPIH/IE,
AJIBIC 5KOHE KAKbIH LIeT eJiepinae OLTiM ayna

STEM okpITy 9/ici apKbLIbI AFbLIIIBIH
TIJIIMEH KAaTap MbIFAPMANIbLIBIK,
i3meHIMIa3AbIK KadijerTepl namyaa




